C:# Checking Division Answers

Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
7/ Division problems can be 263 + 8=3217 182+6=2915
checked by multiplying the 39 29 1
quotient by the divisor and then 3 6
adding the remainder. X X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 19 2@ |3

1) 595+5=297r1

3) 407-7="58

o) B41+7=T7712

7) 953+9=119r1

9 102+5=20r3

2) 942+4=235r2

4) 746+5=149r3

6) 337+2=112r1

8 307-8=38r3

10) 313+3=104r1

10.
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 not
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. correct
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 j 3. not
1) 595:5=297r1 297 2) 042:4=23512 235 4 ___ ot
x 3 x 4 s correct
1485 940
+ 1 + 2 6. not
1486 942
7. not
3) 407+7=58 58 4) 746+5=149r3 149
i _7 i _5 8. correct
406 745
406 48 10. correct
5 B541+7=7712 77 6) 337+2=112r1 112
x 7 x 2
539 224
+ 2 + 1
541 225
7) 953+9=119r1 119 8) 307+8=38r3 38
X 9 x 8
1071 304
+ 1 + 3
1072 307
9 102+5=20r3 20 10) 313+3=104r1 104
x 5 x 3
100 312
+ 3 + 1
103 313
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